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104 2 | 0,2 - - - 10C3 80 (0,801 1127 |30 | 480 1 BCP g 55 . 2
104 3 ] 0,2 - - - 10C3 80 10,80} 1 {27 {30 480 | BCP Z 55 5 =
TMyma- 104 | 4 |04 - - - 7C3313+0c+bn 65 {0,80[IA{25 |30 ] 390 ] BCP g 45 'a_§ e
Bo yu ke 104 | 5 10,2 - - - 10C3+/13 5510,80[1A[23 |24 | 390 1 BCP ‘g 45 % 22
O 104] 6 102 | - | - - 5C33bn2JI3 45 10,40]1A[19 |20 110 | ). |BCP| % 0 _|Z5&
TCHUOTBO - o217 | 46 | - ; ; 10C3+/I3+bn 60 [0,80|1A[25 | 28] 435 |71/ | BCP g 50 |£¢ea
104 9 | 0,6 - - - 10C3+/13+bn 80 10,80} I {25 {30 430 /f BCP z 50 = @
104 [ 11] 02 - - - 10C3 110{0,30] 1.126 k8] 17¢ |/ 1 | BCP 3 20 =
104 7 | 0,8 - - - 70¢3C3+/13 e, 8011A |25 |32 44b 1 BCP |cCrosoyposi 50
104 |10} 2,3 - - - 6]134C3 % ) . 3}’( 1 |BeP rauni 40
Paszom 527,0 />
T
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